Seefiern. 6.5

) F)= kKJMXMWMW%‘
Work = S FE)dn e 17072 ] kX P —

roos kZM|T o T ks oo N,
2 o

2) Fl)=kx — goott = k(tia) =
a) k= Reotk

b)) Werk = 3 F@)du = 3, 200X o

z loolei = Yoo imn - Lho .
c.) (oo = kX — [6oo = @@o];(,ﬁ
Xz § o .

4) FX)=kx - 2o n= k (lom ) = Kk:sT0 op
Fl)= kX 5 seRan Work = D) Flx) A

= S(CMKM = 45’)(*{5 = a5 Jéules
B Xz 50 —

C (et ) (dlanen ) 1 dX
(et fon gt (it

Co Q'W) <0\X/ Cbo-x) x=zo,
e- e;w)(g/odxj/% Wwv/‘/(’\ g

Werk = 3 Co. wq)(é’o x) Hx
;(o,e;w)QSoxv % - (o,eij(zb’oovms/O]

= 7¥0 T

!



x= 19 .
8) &7/@«:&% o g /4% I "
MW&%W
/(,.OEKM?(%X‘FGQXM ZSEZK-"dX}O\X

X (gt ) (Setse)
= (ua— 4x ) Ax ;

s W?‘X P e P
Work = S:} (14— dx ) Sz

&
= (144 x - MQ”O = RATTR — 45 = (9499 St -4
1) R A ot prnatl TS Tee

Z (ﬂb«?;bh] (otv.z/‘twwca,) x _JE_}OKX
- @-57 Ax) (180 =X )
4.5) (g0~ x) Hx ; xeofe~ U

Work = 5. (.5) (170 x) dor

117
- G 5) (mox- X)) L s Cry

- 78}700 %“M'Q '\\Tr_ K:RO’H-
1) pechssk 5//61
Ao e 16 A 7 L x+ olx
0 Snik | ek Jeaks =N B
‘*m 1 8o . _
% R0 4% 5%‘ “
-)<:O -




' VIEw
1R Pt
Y=o

12 pr.

2 (gt ) (diobane )

(é«l. “/)-CC“’)O?\]QA)/)) , C},)

T4 58 Y d;( ; e A rate S

26
Work = §_ 7488y dy - 3o aep y2 [2©

"

~
N

(/ 4‘{7'7/ 600 M.'M_



/‘/-)4.) ;_ V= N, TOP
| dy
(6{#. ‘/2-._., - -_g )’:lo , /
L’ - L I/'(ﬁ. 4 A 7 /ZA Y SIDE
20 4 Y220 v Iéo
26 A4,

st RIS e i oS of HaO S Aop Ly
(oreipbot ) (distonee )
(M)(WM) (JM)
(62.4) (Cae)t2)(4Y))- @) _ag A
MWW ﬁé{o 7‘%7@/’4 g

Work = Sfoo 14976 Y dy = 748§ 5" (]io

= 24 FF C"(06~/00/ = o?/o?‘fé/‘foo . —Ab

n &

i

7. lo 44
7) ——== - ( o P
T [
30/“' Y e ¥ d SIDE
o~ — VIEw
Y=o

C5/ 2) (7o) ey C30~y)
5126 T C?o—\/) y&/. et

e S

nooRN



30

Wordy = ), SiRom (30-) 7 <
_ 21 (Jo
= gra0m (0~ _{;.j M

= 51201 (900 — 450) = 2, 3F0M, 000 m ft—Lha

Y 1

R AT ot i Ran plees o
4.0 o Aoz Ao

X

C ) (detores )
(Fonsy ) (wolonne ) ( bistoven)
(73 ) (way) dy) (4~Y)

73 T (4y=-y*4) d¢

o

{1

,fézk%—b/;d

wek = S 1z T (4= y2) Ay

-
~—

-
o—

73 T (ayi- L )lq
73 ”‘(31— %q

(73) _35% TR Q4Yb. 25 -t



= (x)n A\( 0[800 (@Y )’" ; ‘{ )

o~

. = 9860 T C‘-(-- h } (1/ FR RN )




( (
= M. IA — - — [ i _
S 3 m= oo Slags ;=0 Mg

v-l" 60 -/ aae . - 7(:}%
= 4 (552 ) (90) = % (552) ) s 50 protto

2s.) szbj —> 0.3(2§ = wr(:;’,z)__’

. 0.313s _
m= 8327 slugs vz o Pl
(70 wig { e, )é‘zs’o-{:-e - 132 . . A
3600 Jec { mic. Sée..

£ = L (.‘2;.3;_’_’:.5)@31)* ~ 851 BL~lbs.

26) (‘eoe)(,éf%)zﬁ; b ; Fzmg —

T!B': m(g&]_a mﬂéz—- s('«\st' V,:O‘H:-/Su—.

)

l(,&;LoJ(RyO) = [22.5 Ft—-14s

—

J



